PAPER 2 
CHEMISTRY MARKING SCHEME
1i. Noble gases
ii.D2SO4
iii at Y            b. E
i. Ionic bond-bond formed by transfer of e-s from metal to non metal
ii. D/M
iii. Element E react by gaining one electron which reduce the electrostatic pull by the positive nuclear making ionic radiuses increase
iv. Group (VI) period 3
v. Because of increase in the strength the molecular bond in the oxide of  L compared to G 
vi. Atomic radii of C is smaller that that of L. due to increase of the positive nuclear charge across the period 
vii. Ionization energy increase from J to L due to increase of the strength of the nuclear charge. 
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ci. A-C4H10
ii.butyne decolourised purple H+ potassium manganese (VII) while compound A doesn’t 
iii.C4H8+HCL                      C4H9CL
Or
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iv.
v.Addition reaction (hydrogenation)
vi.Reagent –hydrogen
Condition –Nickel catalyst
         Heat 1500C
d.Were found to deplete the ozones layer that prevents ultra violet rays of the sun reaching earth 
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3a. A solution which cannot dissolve any more of a solute at a particular temperature
bi.25g per 100g of water
iiMass dissolved =62g
  Mass undissolved =80-62=18g
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c.RFM of KNO3 =101
Moles in 100g = 25/101 =0.2475
Moles in 1000g of  water =0.2475x1000=2.475m
d.Add NH4OHSOL to precipitate AL(OH)3
-Filter 
-Dry with low temperature
4a.Nitrogen –R
bi.Cracking of long chain alkaline
-Natural gas
-Electrolysis of acidified water
ii.To remove the impurities that would poison the catalyst
iii.Iron catalyst
ci.Heat exchange 
ii.To cool the mixture
ii.N2(g) + 3H2g___________2NH3g
d.Reaction between catalytic oxidation of ammonia is an exothermic reaction the heat produced, during the reaction enable the platinum wire to glow.
c.Manufacture of nitrogenous fertilizer 
-Softening hard water
-Man. Of hydrazine used in rocket fuels.
5a.Different forms of an elements at the same physical state 
b.Graphite has a delocalized electron that is not used in bonding
ci.

ii.Reduction property of carbon
d.Salt made of two bonded salts
ei.Boiling water under high pressure
  ii.Sulphur froth
fi.


ii.Through oxidation 
Dye+Nacl_______(dye-0) + NaCl (colourless)
6ai.Effervescence is observed due to production of a gas 
ii.A white precipitate solid is observed due to formation of insoluble lead (II) chloride 
bi.


· Penalize fully if not balanced 
· Penalize fully if letters are joined
· Penalize fully if small letters are mixed with capital letters 
ii.

-Penalize as above
c.

d.Precipitation of double decomposition 
ei.Zinc (II) nitrate
ii.Zinc (II) oxide
iii.



7i.Black soil
ii.NaOH or KOH to absorb CO2
iii.Its poisonous
iv.2CO(g) +O2(g) _________2CO2(g)
v.Prevent heat from burning the cork/bring or prevent copper (III) oxide from being blown into the delivery tube.
vi.Fuel –reducing agent in extraction of metals 
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